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15%ALHH 2EH HF ASCIAES SOt
2017 AE - 3,000x(1+0.05)=3,150
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4 Boxplot.R 3

1 table?_3<-c(65%,62,73,85,65,46,36,49,81,76,
2 60,44 ,43,72,21,33,83,46,64,49,
3 12,74,91,78,60,48,24,62,54,97,
4 69,31,89,96,96,97,86,88,85,601,
5 95,54,85,89,51,77,81,72,47,35)
6 summary(tablez2_3)

7 quantile(tablez_3)

B (sort(tablez_3))

9 fHivenum(tablez_3)

10 boxplot(table2_3)

= summary{table2_3)
Min. 1st Qu. Median Mean 3rd Qu. Max.

12.00 48.25 65.00 64.74 84.50 a7 .00
= guantile(table2_3)

03 25% 50% 5% 100%
12.00 48,25 65.00 84,50 97.00
= (sort{table2_3))

[1] 12 21 24 31 33 35 36 43 44 46 46 47 48 49 49 51 54 54 60 60 61 62 62 64 65 65 69 72 72 73 74 76 77
[34] 78 B1 B1 B3 85 B5 85 B6 B8 EO B9 91 95 96 96 97 97
= Fivenum{tablez_3)

[1] 12 48 &5 85 97
= boxplot{table2_3)

. w_
$€ = e ’ —_— . % w‘g\é




e

et €21 XIHAE

/
mEN xizo| Axpay Y
[ 1

S| A - Max- Q3 12, Q1-Min=360|2 2 AZX|7} Of2jAtZ2(Q1NR} X4t ALO]
HC= YAFERIT(Q3)QF =S gL AO|Of] RIRIE|| X6t D YS

281, THE B 50%2 S48t H Q3-Me=20, Me-Q1=170| 22 Z5X|7} 9ARz ol
(Q3)2t S%F(Me) AIO|E L= S%(Me)2} OF2iZ%==(Q1) AO|0f B E|0 2
ot UZ

\




